EXTHAESE O2REX B:FH28%4R 1 8
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) EE B HEEREW | AIFERHAB) 1 (A - (B) ]
< Y—EXFHEBDOE >
< @ >
SERE 38, 000 34, 200 3, 800
RERE M T I 1, 204, 000 933, 000 271, 000
P& A 501, 120 0 501, 120
EXEE 17,091, 404 19, 590, 101 -2, 498, 697
H—ERFEEIREE (1) 18, 834, 524 20, 557, 301 -1,722, 777
< ZH >
A& 1,047, 200 385, 880 661, 320
X5 17, 054, 566 19, 182, 743 -2, 128,177
=58 3, 800 482, 7160 -478, 960
BUTEEN £ 6, 038, 522 6, 038, 513 9
EER R AIE I S IRAAEE -6, 038, 523 -6, 038, 513 -10
H—ERFHEREF 2 18, 105, 565 20, 051, 383 -1, 945, 818
H—ERFHERELEQ)=1-(2) 728, 959 505, 918 223, 041
< H—EXFEMERDOE >
< @ >
ZERF S BC 2 & R A 22 403 -381
H—ERFESMREEE (4) 22 403 -381
< ZH >
H—ERFENERE 6) 0 0 0
H—ERFEESMERZELE (6)=(4)-O) 22 403 -381
BREBRELE()=3)+6) 728, 981 506, 321 222, 660
< HRBEOE >
< @ >
R IR A & (8) 0 0 0
< ZH >
A& RE (9 0 0 0
FAEREEE (10)=(8)-(9) 0 0 0
LEEBBEEE 1) =7)+10) 128, 981 506, 321 222, 660
< MRBEBENZEOR >
B AARREE BB EEE (12) 972, 044 465, 7123 506, 321
LHAREEREIRRELE (13)=(11+12) 1,701, 025 972, 044 728, 981
EXEHRARZE (14) 0 0 0
AT HRAEA%E (15) 0 0 0




Z Dith DFE L & HAREE (16)

0 0 0
Z OB SR (1]) 940,000 0 940,000
REARHRENE B =R ~

(18)=(13)+ (1) + (15) + (16) = (17) 761,025 972,044 211,019




